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Subject- Chemistry
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Time Allowed : 3 Hours

Max. Marks -70
GENERAL INSTRUCTIONS :

@ Al Questions are compulsory.
aft geet srfard 7|

(i) Marks for each question are indicated against it.

U U b AT 3ih ST T ¢ |

(i)  Questions Number 1 to 8 are MCQ, Carrying 1 marks each

TGN 1 W 8 Tb a1 U B | AP U & oI 1 3P ¢ |

(iv) Questions 9 to 15 are very short answer questions carrying 1 marks each
JeA—H&IT 9 9§ 15 TP AfTTg—IRd U 2 | IAd e & el 1 3 2 |

) Questions 16 to 23 are short answer questions carrying 2 marks each.
TR 16 ¥ 23 TSN YT & | TS U & oy 2 3f 2 |

(vi) Questions 24 to 31 are also short answer questions carrying 3 marks each.
TR 24 | 31 W TY-ITHT U 2| TS T B U 3 3 2 |

(vii) Questions 32 to 34 are long answer questions carrying 5 marks each.
YT 32 | 34 SIE—SNIT U & | TS U & foIT 5 3 2 |

MCQ (Multiple choice Questions) EI'\'?[ﬁrE RS

fot o w2 faweu &1 g9 & |
3d Bfad & (bee) AT & Udh Ydhdh DIMSHI H URHIIRAT Bl HRAT 5—

@4 @3 @© 2 @1

The Number of atoms per unit cell in a body cantered cubic structure is
@4 b3 ©2 @I

I B D IR & I ReRid &1 ST & —

2. (@ 9ps ' (b)HIddeR | Tbrs
1

1 1

(d) °fiex Al | Adb~s

(c) <liex Al ' Hb~s
The unit of Rate Constant of Zero Order Reaction is
(a) Sec™ (b) Mol Lit™" Sec™

(c) Lit Mol 'Sec?  (d) Lit Mol Sec.



10.

11.

12.

AP TH goidel= iy g=rredl fha eaoT @1 a—
(@ F (b)Br (¢) (Y|

The halogen with highest Electron affinity is

(aF ®Br () @ I

SN frafafdr fewe g BT € -

(a) FHAUT AAWIT (b)) PEBHRN () DEMDBET  (d) o b

SN' mechanism Proceeds through
(a) Transition State (b) Carbanion

(c) Carbocation (c) Free Radical

faferama=a Ay # HYIoT SHGI BIaT § —

(a) TePIEfA (b)) DI () SR (d) WUR AMAFHS
Williamson Synthesis is the synthesis of

(a) alcohols (b) Ketenes (c) Ethers (d) Grignard Reagent
Vesld |e-A fohad =Et 8l & —
(a) HCHO (b) CH3CHO (c) CH3;COCH; (d) CH;CH,CHO

Aldol Condensation will not take place in

(@) HCHO (b) CH3CHO (c) CH3;COCH; (d) CH3CH,CHO

faerfi| “c” @ & 9§ Bar § —

) Thdl (b)) Rdea () BRI (d) YoMl adreadr

The deficiency of Vitamin ‘C’ Causes

(a) Scurvy (b) Rickets (c) Pyrrohea (d) Pernicious Anaemia
F,C=CF, U&d® & —

(a) AGAT — 6 (b) FAT —S  (¢) <HAM  (d) Raed

F>C=CF, is a monomer of

(a) Nylon- 6 (b) Buna-S (c) Teflon (d) Glyptal
Jifd oy S

F— &< @®rg?

What are F- Centers ?

TN B fH @Y 9dv |

State Henry’s Law.
BEH B[S SIMARHIT B Th SRR S |
Give an example of Pseudounimolecular Reaction

NP ISRBT UhH BT Uh I ¢ |

Give one example of Industrial Catalytic Processes



13.

14.

15.

16.

17.

18.

19.

BrF; 1 I 10 |

Draw the structure of BrF;

f=IfRad &1 TUPAC A < |
CH;CHOHCH = CH,

Give IUPAC Name of the following
CH;CHOHCH = CH,

fqex oI @1 € ? U JaIERU © —

What are Zwitter ion ? Quote an example

Short Answer Type

AT BT fBRCABRT foc ST # BIAT B | UG DT BIftSDHT & BRI B
TS 4.07 X 10° cm TAT O99@ 10.5 g em 8 @1 dlal &1 URAMDGS G

ST DI |

Silver Crystallises in fcc Lattice. If the edge Length of the cell is 4.077x10™® cm and
density is 10.5 gem™, find the atomic mass of silver?

750 mm Hg 19 WR Sl &1 F9db 99.63° B | 500g STl # fha= Febiol
e Sig {5 g\t 100% WR g9 B WY |

ST @ folg Ky = 0.52 K kg mol

Boiling point of water at 750 mm Hg is 96.63C. How much sucrose is to be added

to 500g of water such that it boils at 100°C ? Molal elevation constant (Ky) for
water is 0.52 K Kg neal™

(2) TRIIRYT ST9 THSY |

(b) IFIATH URTARYT &1 Uh TAT AT |
CREI
(a) AC—BI% T[0T BT TRFRT I |

(b) KC1® STeilI ©Td T dI+e &I A1F 9V |

(a) Explain Osmotic Pressure.
(b) Mention one application of Reverse Osmosis
Or
(a) What is Van’t Hoff factor ?
(b) Find the Van’t Hoff factor for KCI in aqueous solution.

FrfoTRad # 3R W $HRA B ARG Sird qai —
) 1 — YU IR 2 — UaTa
ii) BTl 3R d=ilgdh URTS

Give Chemical tests to distinguish between the following

(a) 1-Propanol and 2-Propanol
(b) Phenol and Benzoic Acid



20.

21.

22.

23.

24.

25.

feferRad &1 R & —
1) SATSS I Uil § gerefiel & U= Tilfer il § STeger=eie & |
2) Tfemied UM, WHfed TN & & &R 2|

Give reasons for following

(1) Ethylamine is soluble in water where as aniline is insoluble
(i1) Aliphatic amines are stronger bases than aromatic amines
el ¥ wraTEESe @ < g Br o |

Write two main functions of Carbohydrates in plants.

=R ATl BT QT aR HHadg BN —

i) FIAIPH D dSd PHH H

C,H5s0H, (CH3),NH, C,HsNH,

ii) RO Uded & ded HH H

C¢HsNH,, C¢HsN(CHj3), (C,Hs)NH, CH3sNH,

Rearrange the following Compounds as directed

(1) In increasing order of boiling point

C,Hs0H, (CH;),NH, C,HsNH,

(i1) In increasing order of basic strength

CsHsNH,, CsHsN(CHs),; (C,Hs),NH; CH3;NH,

dqmy Gocy gD AR AMUGE 9gald ¥ A<R qal | IFI IgaAd! & Yh—Tdb
JETER < |

What is the difference between Thermosetting and Thermoplastic Polymers ? Give
one example of each.

oy SN (1)
(a) ITFATHIT & AfhIor I BT IR BN |
(b) 373 K WX N,05 & AMUII 3T P Y 46 o€ © 3R I8 N,05 B
IRMAP TqF W Wad & | 39 dUhd R faftne a1 ReRriw e |

(a) Define Activation Energy of a reaction

(b) At 373K, the half-life period for the thermal decomposition of N,Os IS 4.6 Sec, and is

independent of the initial pressure of N,Os. Find Specific rate constant at this temperature.

fr=faReaa @1 s @ —
(a) 9T BT FASA
(b) ThaT AT ATETY0T
OIESIKRIE]
SR
(a) SART PIcilgs 3N gafaRF Blcllgs & IR WL HY —
(b) JMHR IRUMHD IR FT & 2

(c) STl gIRT Il T SFfINYUT R 19 & YWTd Bl fada=T fhfor |




26.

27.

28.

29

Explain the following
(a) Electrophoresis
(b) Coagulation or Precipitation
(c) Tyndall Effect
OR
(a) State one difference between lyophilic and lyophobic Colloids.
(b) What is shape selective Catalysis ?
(c) What is the effect of temperature on the adsorption of gases on solid ?

TS Ufhamsll & Hoivd RAGar o aarq —
(a) B I fafer

(b) HS TRSHIOT
(c) Yd e e
Give basic principles of following metallurgical operations.
(i) Froth Floatation Process
(i1) Zone Refining
(i1) Electrolytic Refining
S ufafdharstl d @) HR —
i) XeF, + H,0 —»
ii) NaOH (38T 3R 9) +Cl, —
iii) C+H,S0, (A=) —
Complete the following reactions
(i) XeF4, +H, 0O —»
(i1)) NaOH (Cold and dilute) + U, —»

(iii) C + H, SO4 (Conc) —*
P HRUT AN —
(a) HsPO; U9 & WY § HH HRdl & IR H;PO, Tl

(b) BcfTorT 9 81 © |

(c) TSN UIedlss Hol g9 |
Give reasons for following :

(a) H3POs acts as a reducing agent but H3PO,4 does not.
(b) Halogens are Colored.

(C) Nitrogen dose not form penlahalides

IUFEHAIS AMTDT & KM IR FIHI FdeR Iy —
(a) [Co(NH3)s|Cl3

(b) K2[Ni(CN)4]
(c) [NiCly]™

3121
(a) K3[Fe(CN)s] BT TUPAC 9 for
(b) Fr=ferRad &1 SaTexer |fed arar § —

i) 9IS FeTv)

ii) SU AEado™! AIRTDl # SR ARt
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Give the geometry and magnetic behaviours of following Co-ordination Compounds :
(a) [Co(NH3)6]Cl3
(b) Ko[Ni(CN)4]

(c) [NiCly]?
OR

(a) Give IUPAC Name of following

Ks3[Fe(CN)q]

(b) Explain the following giving an example in each case
@) Ambident Ligand

(i1) (i1) Geometrical Isomerism of Co-ordination Compounds

(a) TR 207 5 Ped 2 ?

(b) T BT & ST
i) SATSA FARTSS BT JIARBHAT STeflg KOH A BIeh ©

i) Y 3R DI IURAMY H SATSA FHISS B FATHAT HHRTHA A 8l 2 |
(a) What is a Racemic Mixture

(b) What happens when

(i) ehhyl chloride is trated with aqueous KOH

(i1) Ethyl bromide is treated with Magnesium in Presence of dry ehher.
JaTevYl Afed HHSISY —

i) gee—wagd fraroEreft
ii) el garef gRRed

iii) pIcH FEYRD

Describe the following giving example

(i) Broad Spectrum Antibiotics
(i1) Food Preservatives
(iii) Artificial Sweetening agents
Long Answer Type (€€ S<R)
(2) NaCl & STefi fer @& Jggd — S7uded | UIa SaTe 9T |

(b) ST VT B T 1Y I |

() Ni(NO3), & Udh fderae &1 wifedd soiagiel @ §9 5 URR &1 aRT
garfed &Rd gY 20 fAee I fdgid srueed fdhdr T | Ni & A5 dAie R
e grf |

3Ad1

i) I & A= SMTHT BT BIeRISY 99 9ar |
ii) oIS HarId S BT AT Aol Srfufshar ford |
(a) N /Riear 3TeRITSs Aol &7 T 9foR I3 3k gfsal & g & g

feferiaa aiffshar g & —
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Zn ———» 7Zn, +Ze, E°=0.76V

Ag>,0 + Hyo + Ze ——— 2 Ag + 20H, E° =0.344V
SuYTd AMATHAT H AT BT E° 3R AG T H Fald

(a) What are the products of electrolysis of and aqueous sodium chloride soluation
(b) Give two advantages of fuel cells
(c) A solution of Ni ( NOs3), is electrolyzed between Platinum electrodes using a current of
5.0 ampere for 20 mts. What mass of Nickel will be deposited at the cathode ?
OR

(a) (i) State Kohlrausch law of independent migration of ions

(ii) Give the overall cell reaction of lead storage battery
(b) The Zinc/Silver oxide cell is used in hearing aids and electric watches. The following

reaction takes place :

Zn— Zn**2¢~ E°=0.76V
Ag0+H,; O+2e—> 2Ag+ 20H : E 0=0.344V
Find E © of cell and AG in Joules

(a) FfeIRad &1 foaRyds F9=Iy —
i) FHAYT 1Y R gD 3MF S STH RS BT B B 2 |
i) AHAD TN AT S WS 99 2 |
iii) HepAd Ty SR S Srfdrarer e rqgdag 2 |
Jrerdr
(a) OIFIFITST 3MTHIAT T & ? IR I &l URIH < |
(b) PTHTSS D I U STghiHe g9 &1 fAf &1 g fhoiv |
(a) Explain the following

(i) Transition metals and their compounds act as good Catalysts
(i1) Transition metals generally form coloured compounds
(iii) Transition metals and their compounds generally exibit paramagnetic behaviour.
(b) Write balanced equation of two reactions in which KMnOjy acts as an oxidising agent
in acidic medium.
OR
(a) What is Lanthanoid Contraction ? Give its two consequences

(b) Describe the prepration of potassium dichromate from chromite one.

(a) F=TToRee Arfiar iffshamall & Fiexor fed FHsi |
i) DFSIRT rfaforar

i) ITTYS <

(b) Fr=ifpa @1 uRafda fea yeR fhar ST & —

i) SARA I | dilgd RIS

i) WM | 9dE




iii) eI A YTHgd TS
3241

(a) FfeIRaa srfaforametl &1 aHsmy |
i) VoSl e
i) B T
(b) FFr=Tifa <t gfafshansit &1 goi o —
(i) HC= CH + H, O 40% H, SO

1% Hg SO4
(ll) C6 H5 COCH3 + 12 +Na OH —»
(iii) C¢ He + RCOCI Aahyd.Al Cl;
(a) Explain the following name reaction giving equation in each case

(i) Connizzaro’s Reaction
(i1) Rosenmund Reduction
(b) How will you bring the following conversions
(i) Ethyl benzene to benziic acid
(ii) propanone to propene
(iii) Butanal to botanoic acid
OR

(a) Mlustrate the following name Reaction
(i) Aldol Coadensation
(i1) Stephen Reduction
(b) Complete the following :
(i) HC= CH+ H; O 40% H, SO4

1% Hg SO4
(i) C¢Hs COCH; + I, + Na OH —»
(iii) C¢ Hg + RCOCI Aahyd.Al Clg



